ITI Turner 2nd Year Module 2 Lathe Accessories

(1). Which one helps to analyse the machine and equipment? | =Rl GﬁT
SUHRUT T fARAT0] B H H1F HEE Hdl 82

(A) Machine cleaning | Wﬁm
(B) Intermittent inspection | s?vﬁ‘-léqﬁ?‘”r&m
(C) Irregular lubrication | Gﬁﬂ'&lﬁ@ﬁ

(D) Maintenance record analysis | YWRI[d Repis faasr

Correct Answer : D

(2). What is the roughness grade number for symbol? | W%WW@I@
TR FT 81T 82

(A) N1to N3
(B) N4 to N6
(C) N11
(D) N12

Correct Answer : C

(3). What is the meaning of “seiso” in 5's? | 5's H "seiso” BT GTZTG:CIT%?

(A) Standard | HIHh



(B) Sort | TH I T

(C) Cleaning | HCFI_S;
(D) Discipline | 3{RIMTHA

Correct Answer : C

(4). How the roughness value is expressed? | gXqU+ ac'ij\ﬁ ad fhdr SITdT

g?

(A) Micrometer | ATSHIHICY
(B) Millimeter | fHGIHICR
(C) Centimeter | ScTHICY
(D) Meter | HIeX

Correct Answer : A

(5). What is lapping? | WW%?

(A) Precision finishing operation | Tl gismeor dfchar
(B) Filing operation | fifeitT Tfdear

(C) Grinding operation | ATSS 11T Tl T

(D) Chiseling operation | TafeiT Tfchar

Correct Answer : A

(6). Which lap material inexpensive and can be expanded if worn out? | ﬁq@f

AU I O 8 3R 3R WIS 81 ST i 39T faxdR forar o b an g2
(A) Brass | didd
(B) Castiron | PI¥C AR




(C) Lead | Eeisl]
(D) Bronze | 1l

Correct Answer : C

(7). What is angle between the two faces of angle plate? | W@fﬁﬁw
& U 10T fhaTT aIdT &7

(A) 30°

(B) 45°
(C) 60°
(D) 90°

Correct Answer : D

(8). What is the purpose of slots milled on two planes of angle plate? | HIUNY Wi

& Tl dg IR Wilc BT FT I BIdI g?

(A) Reduce the weight | dold o H ]

(B) Clamp the job | SIidl B! GeIF T I

(C) Maintain accuracy | gt d-U 1G]
(D) Good appearance | 33T fe@ I

Correct Answer : B

(9). What will happen if lap material used to make laps harder than work piece? |

3R T AT 1 SXHTA dh Y1 B JaTT H o Bl Ho R 9911 & ford fpan
SITCT & < T g1

(A) Improve better geometrical accuracy | a_@?lTGCIT&I?ﬂ'q CIIQ%!@(‘H ﬁﬁiﬂ?




(B) Abrasives cut the lap instead of work piece | Wﬁﬁ@ﬁ@ﬁﬁq
DI BicT

(C) Improve dimensional accuracy | STTH Cliwlﬁﬂlﬁﬁ‘élﬂ
(D) Refines surface finish | Wﬁw&wm%

Correct Answer : B

(10). What is the type of angle plate? | %mwﬁﬁvﬂmﬁ‘c’%?

AN

N

(A) Plain | @1

(B) Box | Sl

(C) Swivel | gH dTell
(D) Slotted | ¥ICS

Correct Answer : B

(11). What is the purpose of preventive maintenance? | faR® A &1 3%5231
T g?

(A) Maintain machine in good working order | 3=l 1 HH ﬁmﬂqaﬂmwﬁ
o fere
(B) Increase the cost of inspection | ﬁﬁ&mﬁwﬁq@%g




(C) Reduce the vibration of machine | 7 &1 HUq HH B %ﬁ'l'q

(D) To keep the maintenance records | ey Rpre Wﬁ%ﬁﬂl

Correct Answer : A

(12). What are the basic activities of preventive maintenance? | faR% TERW1g

@ giare Tfafafat w g

(A) Periodic inspection of Machines and Equipments | TN 3R IUBRUN Bl
3{Tafde FR1Er

(B) Breakdown inspection | Ejﬁﬁﬁﬁ&m

(C) Reduce quality of product | dd-lldﬁ{LUldrll HH DI

(D) Increase breakdown | Sh I3 dc_&IQ

Correct Answer : A

(13). How may roughness grade number are used? | foaq {geq\e TS AR &1

SUTNT {1 ST /2

(A) N1toN12|N1IN12
(B) N1toN25 | N1dN25
(C) N1toN20 | N1IN20

(D) N1to N30 | N1 N30

Correct Answer : A

(14). What is “M" in “TPM"? | “TPM" & "M" &1 §?
(A) Machine
(B) Method



(C) Maintenance
(D) Material

Correct Answer : C

(15). How we can protect the surface of marking table to maintain accuracy? |

G B! L G & 1T g HIfHTT 29 Bt g B GR& H HR Tbd 82
(A) By providing a guard | T8I SR

(B) Providing plastic coating | TIRed BT Ua HIAT

(C) By applying thin layers of oil | dd &I Uddll Ul &I aIH I

(D) Provide a stand | U Q’s Hald

Correct Answer : C

(16). What is the name of device marked as ‘X’? | X’ %Wﬁﬁﬂ%ﬂ%ﬂ@ﬁ
ITH T 82

(A) Lathe plate | SIY &IT
(B) Four jaw chuck | 4S9 IH



(C) Faceplate | B Wi
(D) Driving plate | @Eﬁ"'ﬂﬁ?

Correct Answer : C

(17). Which type of instrument is generally used to check eccentricity? | ﬁm

&1 STaH & oY fod TR & IUBRUT BT SUIRT el 52
(A) Dial test indicator | STUd RRY ‘é%abdﬁ

(B) Micrometer | e

(C) Surface gauge | B T

(D) Vernier calipers | WW

Correct Answer : A

(18). What is the name of precision finishing operation carried out by using fine

abrasive materials? | W13 g8 Uard &1 SUANT B URT[G Tag YT B Pt
SifehaT T R FHEd 82

(A) Grinding | ATSfST
(B) Lapping | QT
(C) Filing | TohfcimT
(D) Polishing | QIR

Correct Answer : B

(19). What is the aim of “"TQM"? | "TQM" &] 3%53 GP:IT%?
(A) Zero breakdown | SIRI S SIS
(B) Zero defect | Gilil?ﬁﬁr



(C) Zero maintenance | SIRY TER@Td
(D) Zero repair | SIRI A

Correct Answer : B

(20). Which device is used as a reference surface for marking? | g IuHUT Bl

3 & fore W Tdg & ® 9 o SudNT fhar Sar g2
(A) Angle plate | TTTd Wi

(B) Marking table | ATfHT ¢aa

(C) Anvil | GAfdd@

(D) Lathe bed | AU TS

Correct Answer : B

(21). Which record keeps the detailed record of fault, repairs and replacement? |

® T RIS Biee, RUR 3R Neigde o1 faxgd Rl 3adrg?
(A) Maintenance record | IBRWT RP1S

(B) Inspection record | fAteur Reprs

(C) Job card | SId HIS

(D) Bill of material | 9N &1 fod

Correct Answer : A

(22). Which lapping material used for easy charging and rapid cutting? | 3Tl

TTNT 3R TS HfeT & forg fope aifthvT Sl &1 sxawra fhar S g
(A) Castiron | PRC IHTURA
(B) Copper and brass | T‘IWTQatﬁ?I?T




(C) Close grained iron | TS I TRA
(D) White cast iron | WW&W

Correct Answer : B

(23). What is the use of frequency of lubrication? | @_Ef:fﬁ W%WB'CI@I"TW
g?

(A) Machine looses its accuracy | WMW@%%
(B) Increase Wear & Tear | QE&UQ_C'EE_CIT%
(C) Machine retain its accuracy | AR U Tl dl SRBIR W?ﬁ%

(D) Reduce machine life | AR & St & B H Bl

Correct Answer : C

(24). Which turning operation the different diameter are turned with different
axis? | Tpd T SITORR T S1QIT-31aT S D1 STRT-S{THT & F GHT STl
g?

(A) Plain turning | A efH T

(B) Eccentric turning | QH@@H’TE'EFT
(C) Step turning | Ly e

(D) Concentric turning | F\ﬁ%?ﬁ"'{

Correct Answer : B

(25). What is "Q" in “TQM"? | ”TQM”ff"Q”aZIT%?
(A) Quantity

(B) Quotation



(C) Quick
(D) Quality

Correct Answer : D



